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7"01
Intro

Today we will 7”va learn » of ©'mar noon
Some of the topics we will learn about include.

The Mishnah’s Halachah of

TIROMM [0

PWY RHW Jonww

OR

MW R>w P Hm Hap

nipiio))

A noo and nrvn becomes Pasul if either one of the four
077 MY were done IHWY ROW.

The Machlokes regarding

7991

Whether a nmwb 5w nawnn during 7957, when the Kohen
carries the blood to the nam, causes the Korban to become
Pasul?

The discussion regarding

MmwH ROW 1HIp

17509

Whether a nnwb 5w nawnn during 752p, when the Kohen
receives the blood in a utensil, causes the Korban to
become Pasul?

The discussion regarding the mmay and mawnmn that cause
;

A pin nawnn causes a Korban to become 5o only if
the following two conditions were fulfilled.:

1.

717992 20V 7712V NYW1 12Awnn

The nawn» must be during an 772 which is mandatory
for 1795, such as the four 077 MM,

AND

2.

ORI IR DORS PV WD

The mawn» must be about something which is either n5ax
DTN or M NYIR, the people’s consumption of the meat of
the Koban, or the Mizbeach’s consumption, such as n>ow
D77V or PR NIVPA.

The discussion regarding

991 PIXR N0

1219 DRV

If while dipping his finger into the blood to perform nxi
in the Y11 the Kohen had a 1w yin nawnmn about nvpn
PIN;

Does the Korban become 51»9?

DafHachaim.org

NXRVNN NODN
PVWHY ROYW VNVLWY
PWH ROW PIT OM Hap
n°*"’10D

991N

MYH R5W NYap
nY0d

mMawVNN & M7y
that cause 50

Anptd yin nawnp causes a Korban
to become 5o only if
NT712Y NYW2 N2awnNn
N0 20VNN

NYDN YaANK N1V
NN NXRLVLN2
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So, let's review ...

Zugt Di Mishnah

DROVMNM NS

PWS RYW ONVY

OR

PWY ROW P oM 53R

akpliv))

A noo and nxon becomes Pasul if either one of the
following four o771 m712Y were done WY RHW:

1.

oMW

The Kohen slaughtered the Korban mw5 xbw;

OR

2.

oap

He received its blood in the n7w *53, the utensil, WS XOW;
OR

3,
1950

He carried the blood to the Mizbeach nnwb X5w
OR

4,

kel

He applied the blood to the Mizbeach, mw5 Rbw.

The Mishnah continues

W5 ROV WY IR

T3

oW DW) OO DWH

Even if during one nm2y he had intentions for both mw>
and mwH RHWV;

Such as, during noon nonw he first intended w5 for a
noo, and then w5 Xow for a obw;

OR vice versa

PO S XYW

T30

noo oW Db oW

During monw he first intended mwb Xbw for a onbw, and
then mwb for a noo;

nkbilofa)

In all these cases the noo becomes Pasul.

As the X»p Rin concludes

07727 7Y2IR2 Y003 AW

PR P Map1 o nwa

A 12797 becomes Pasul if one had an improper nawnn»
during any one of the four primary 077 mmay

Dedicated By: DafHachaim.org

NNEA MOSN
1awh Row name
0R
1w 8ow M 7om Sap
2'9108

Anpo and nnvn becomes Pasul if either one of the
following four Tn mmaY were done npwD RdW:

&}

e

—-

-1 -
nony
The Kohen

slaughtered
the Korban
nowd RHY;

no5n
He carried
the blood
to the
Mizbeach
npwb Rbw

He received
its blood
in the mw o,
the utensil,
mwb NHw;

He applied
the blood
to the
Mizbeach,
npwh RHw.

IR A MO N 1w NOwn b N

)
ambY owh
MoD DS

During nonw
he first intended wwb Rbw
for apmbw,
and then mw> for anpy;

A
moD Do
a'moY ok

Even if during onenTap
he had intentions for both
wwd and wwb NOW;
Such as, during npon LMY
he first intended npo pwb,
and thenmwwb Rbw for a pmbw;

2908
In all these cases the nbo becomes Pasul.
Avthe iwp 1 concludey

2'937 PYa98a Sops natm
APYEDY P9 Dapay s

A)p becomes Pasul if one had an improper nawnn
during any one of the four primary pTh mmap
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PWIN PYHW 127

T

punw 11 disagrees and holds that if the nawnn was during
19917, the Korban remains Kosher, because

2712 ROWY 1H2pa RYWY o nwa ROV TWONR R

151 RH2 WOR HarR

I AR T VMY

The three mmay are 1wn, significant, because they cannot
be eliminated.

Therefore, 5109 mW5 ROHW;

But o5 is not 21wn, because it can be eliminated if one
were to Shecht the Korban right near the nai», in which
case he can perform it without nabin.

Therefore, w3 mWH K>V,

MYHR 27 says it depends

1505 I RITW D2 oI

oo mawnn

1515 I3 IPRY DIPPI

>0 mawn» PR

As the Gemara later in )"0 q7 explains;

If the 1551 was necessary because the Korban was
Shechted far from the Mizbeach, then

5109 1w RHW 71097

However, if the 75517 was not necessary because the
Korban was Shechted near the Mizbeach, then
W2 WY ROV 1977

So, we have three opinions in the Mishnah regarding
WMWY ROV 197

The x»p Rin holds
Itis always
509

w127 holds
Itis always
>

Y58 17 holds that it depends whether it was necessary:
If it was necessary, it's 109;
If it was not necessary, it's 7>

DafHachaim.org

S )
T Mwan

Ifthe nawnp was during n>5m,
the Korban remains Kosher, because

MRS MO DN N
mpY A 8OwN mhapa Nown
9 892 waN Han
PN MANAM TXD B

The three mmap are significant,
because they cannot be eliminated.
Therefore, MDD 10w RHY;

if one were to Shecht the Korban right near the nam,
in which case he can perform np»r without nabn.
Therefore, Yw> mwb NHW.

Wé »)
Tom% T M 2P Toren

N0 Mawnn
Tom5 T N DpMa
noo MW PN

However, if the n>5n was not
necessary because the Korban
was Shechted near the

Mizbeach, then Mizbeach, then

mwb NSw nobin mwbd Nbw nobhin
p)Vp) 5Do

If then>5n was necessary
because the Korban was
Shechted far from the

MW RO NN
S ) AP A
It 'W@&m%/ It i alw
Bl 50D
7)7@ »)
;/ nat necessary 4/ necessary,
W) 0D
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. The Gemara now elaborates on the X»p Xin's opinion that
mwb RSW mHap
nboo AP
Tty @%m%/
And the Gemara brings proof otherwise, that 50D
1509 RS WH RYW 7153p
From the following Braisa in which X2°py *a7 made three P

distinctions between n>1p and npn e
1. N2pY 127 made three distinctions between nbap and npnir

O AWM 72 WY K> 19ap

VYN NN 12 Y PN 1
An improper nawnn during 153p does not cause the np’j‘( n';:p
Korban to become H109;
! X D
But an improper nawnn during 7’71 does cause the N1 NWY N1 NVY Nl’
Korban to become 109, NWYNI NAVNN NWYNI NAVNN
2. But an improper
NP MIPRPINHIP mwny during npr
NP WVNY PN does cause the Korban
One who performs 151p outside the 77tp is not liable to to become Hpo.
nAJ;
But who performs np»71 outside the 771 is liable to no.
3,
Yo PR PR PO109 193 Yinapat yYina 1'73|7
YoV P ToI00 TR NI WNy NI 2N N
Ifa disqualified person, such as a 7, performs n>ap, he is
not liable to bW ™11 A, But who‘performs T
. But if he performs npt, he is liable to onw *1a . o,“t,mde themry
is liable to m>.
And the Braisa’s first distinction of 5
e TR TP POIOD MR PYIOD IMYIP
1w Ko 93P P9Y Pann 1YY Parn PR
200 N> But if he performs npnr,

) ] he is liable to pww 12 PHW.
While the Xpp Xin of our Mishnah holds

mwH RSW 1Hap
5o Owr Wishmahy holdy Enmn
‘;F]?; ?van:;i gz;:oncﬂes as follows: n'DJp n'np
AHWH KHW NAWMH1 R MY ROV N2 WY XY
_ nYod NMYYNI NAVWNN
The Braisa refers to
D0 AW P
m509 RY 1533 :
The mawnn during n52p was for 15 yim, to eat the Korban
outside its designated time, which does not cause the 'J]J’D Nnawvwn»na ]RD
Korban to become 5109. nnmb Rbm NAVWNN2 ]RD
While the Mishnah refers to ad
Y RHW Nawnn While the Mishnah r%m/ fo The Braisw f@/M/ o
noo0 1oama MYY ROW NVWNHN  M2°D NAVNIN

The nawnn during n53p was for mowh XHw, for the sake of
another Korban or owner, and this does cause the Korban

nYoD NYaP2 NY0D XY NHYap2

' to become 9100. The mwny during nbap The mawnn during nbap was

fmeees was for mwb N5, for the sake ~ forntb yin, to eat the Korban
of another Korban or owner,  outside its designated time,
and this does cause which does not cause
the Korban to become 5po. the Korban to become 5po.
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The Gemara now elaborates on the Braisa’s Halachah of
15372 5o nawnn
11509 RS

And the Gemara brings proof otherwise, that
1532 5o nawnn

oo

From a second Braisa that states

OV MW RAN R DY

7252 703 ROR

One would have thought that only during N>t does a
15 PN nawnn causes the Korban to become S1v9,
because the Pasuk of )1v0 states

WP RYIMR 297100

The word 2 pnn refers to 1.

Therefore, the Braisa cites a source for

1531 7O Tw MA7d Pan

72wn» 172 700

Even during no'nw and m5ap a1 yin nawnn causes the
Korban to become 519, because the Pasuk begins with
55R° HIRT DN

WU OPA YEOY NI WA

87 RS

7208 75 PRAPT 07372

927» 1N0N

The Pasuk refers to 7>71 and all the preceding mmay
which together bring about the 753X 3171 of the Korban.

DafHachaim.org

NY2pa 3D N2WNN
n%0D &Y

P4

AN

NYYIN N2AWNN RNN K’ 919
7292 NP2 ROR

One would have thought that only during npr
does a1yt yin mawnn causes the Korban to become 5xv,

because the Pasuk o/[g@ states
T XD MR SR

The word anpnn refers to npr.

N9 NVINY M21b Pan

N2wWNN 112 NY0D
Even during nonw and n>ap
anptd yin nawny causes the Korban to become 51,

because the, Pasuk beginy with
Lox oS TN
i s vl rai o

HE> XD

3)6#’ '9'//',&3//3 PIIPFP

NI PLNID
The Pasuk refers to npnit and all the preceding mmap
which together bring about the 5> ymn

of the Korban.
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However,

PIWPR NIVPM DYV NYOW

mawnn N2 n1>0o RS

While the Kohen pours the leftover blood onto the 7o, or
while the Kohen roasts the fats on the nam, a yyn nawnn
115 does not cause the Korban to become %139, because
the Pasuk concludes with

20N R IMR PR

And, n27pn which is 77 is already included in 53R
55rn, in the other 7oK 7Y PRABA MTIAY?

Nevertheless, the Pasuk specifies np»t to teach the
following:

DTNYH PN

71799 NV 1TV R

7790 N2V AT 5o R

Only in an 772y similar to 7j>71 which is mandatory for
717193, does a 1S i nawn» cause the Korban to become
0. However,

PIWPR NIVPT DPPW NYOV IRY?

71799277 X P20VD PRY

In these m72y which are not mandatory for 77193, a nawnn»
1 yin does not cause the Korban to become ivo.

Apparently, this second Braisa holds

15090 11532 S0 nawnn

During n53p which is mandatory, a 3t pin nawnn doses
cause the Korban to become Pasul?

DafHachaim.org

PPIMIR NIVPM DY NDDY
N2WNN N2 NYDD R
However, while the Kohen pours the leftover blood on the T,
or while the Kohen roasts the fats on the nam,
107D YID MIWDD
does not cause the Korban to become 59

becawse the Pasuk concludes with
= Ry

And, n23pn which is npmr is already included in 5o8n borp,
in the other n»>R 5 ppann mmav?

Nevertheless, the Pasuk specifies np1
to teach the following:

nTnM» NPT AN
19D N2OYNI NTIAY RINW
17D N2OYM NTIAY 9O IR

Only in an nay similar to npm1
which is mandatory forn1o2,
does a1t yin mawnn cause the Korban to become 5o,

PR NIVPM DMWY NIDW RN
17950 NR PPN PRY

However, mmap which are not mandatory forn1o3,
anptd yin nawny does not cause the Korban
to become h»o.

P4

[

/f/zparwf/?/, thiy second Braisa holdy
NY0D NYapa Ma°d NAVWNN

During nbap which is mandatory,

antb yin nawny doses cause the Korban
to become Pasul?

Zevachim13 -6
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The Gemara reconciles as follows:

The first Braisa refers to

VMY 37 IORT

b 7 55 'y

The nawnn was during 7v°nw about n5ap, that the Kohen
intended to perform n5ap after its designated time, and a
7awnn about n53p does not cause the Korban to become
Pasul for another reason;

Because as the Gemara explains later, the nawn» of yin
M5 yIm amt> must be about an 772y that involves 75°9R,
the Kohen’s or nam’s consumption, while 752p does not
involve any 155x.

While the second Braisa refers to

T 53|7?3 Y397 IMRT

b 0w Nowh N by

The nawnn was during 752p about 07w nyow, the Kohen
intended to perform o»yw nyow after its designated time,
and a mawnn during n53p about 07w Nyow does cause
the Korban to become Pasul, because 153 is 779 2001
and 07w now is a form of M2 N>°dX.

Dedicated By:
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v
The second Braisa r%@ry ty 77%%'/11‘ Braisa r%wy t
IMRT IMRT
T Yapn N VMY 2N
TOVY NS  MNT 52P5 Ny
INNY DMWY TMNY

The mwnp was during nbap The nawnp was during nomy
about p»y»w noY, about nb2p, that the Kohen
the Kohen intended to intended to performnbap
perform p»y»w n>ow after its designated time,
after its designated time, and a mwny» about nbap
and amwny during nbap does not cause the Korban
about p»»w n>ow does to become Pasul, because,
cause the Korban to
become Pasul, because
nbap is M2 2ov» and
Dy NV is a form of
NI NHDN.
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The Gemara proceeds with the second Braisa’s Halachah
of

PIYR NIOPM DYV NYOW

7IWNN 1M NS0 RY

And the Gemara brings proof otherwise, that

72w 1 900

From a third Braisa that states

VI NAWMI RN RO 91

W2 NYIRI ROX

One would have thought that only a 510 nawnn about

DR 02O causes the Korban to become Pasul, because the

Pasuk states
POW M1 WA YIR’ HIRI DNI

Therefore, the Braisa cites a source for

DIMYR NIOPM DV NYOW M5 PIn

paloiai~R by bivh)

Because the repetition o8 SR teaches

927 1N97 MYIR "Nw3

M1 NSOR NARI OTR N2 DR

5o applies to two forms of 1538, the people’s consump-
tion, and the na’s consumption.

Apparently, the Braisa holds
PINR NIOPTH PV NIOV
72w 171 7900

The Gemara reconciles as follows:

The second Braisa refers to

DYV IO 1T INRT

IS PIMPR PRI NIn HY

The nawmn was during 079w NYowW about PR NIVPN,
and a mawnn during 077w N>5w does not cause the
Korban to become Pasul, because 077w n>ow is not 20v»
1792,

While the third Braisa refers to

PPN IORT

b 0w WS nin by

The nawnn was during 73> about 07w N> oY, this
nawnn does cause the Korban to become Pasul, because
77 is 7192 201, and DY NYOW is N2 NN,

Let's summarize:

In order for a 13 Y10 nawn» to cause a Korban to become

59, the following two conditions are required

1.

1179 25V17 7Y NYW1A 7AW

The 2w must be during an 7712y which is mandatory
for 79>

AND

2.

POPAY IR DORS 'Y

The nawnn» must be about something which is either n>ox
DTR Or MM NI,

DafHachaim.org

The Braisa’s second Halachah
1PINR NIVPN DIPW NIDYW
NAVWNN N2 NHOD R

ANIP
NYYIN NAWNH RNN R 9N
TWa NYONRA RHR

One would have thought that only a 500 nawnn
about DTN nbdR causes the Korban to become Pasul,

because the Pasuk states
il it~ boxe b o
W%r&, the Braisa a‘fwa/wa/w/or
ma1% Pan
DIMOR NVPM DY NIDY
N2WNN N2 NY0D
Because the repetition 5>on b teaches
92TH 2NN MR NI
N2TH NDDOR NNNI DTN NHONR NNN

5o applies to two forms of nbdN,
the people’s consumption, and the natn’s consumption.

/?;/mmm‘[y, the Braisa holdy

PR NIVPM DIPY NIDW
NAVWNN N2 NHOD

The third Braisa refers ts The second Braisas r%ery i
IMRT IMMNRT
PNT 1IN DY IPIW 1IN
POV N OY  PYPAY NI HY
nns DMPY nns PR
The nawnp was during npnt The nawnpn was during
about D" N>oY, DY NPY about IR MLPN,
this nawnp does cause the
Korban to become Pasul,
because np»T is 7192 200y,
and D" N> is
NI NN,

Let'y summarige:
A
In order for a13nt> vin pawny to cause a Korban to
become h»v, the following two conditions are required

—_ 2 —_ —_ 1 —_
98 N7y YW N2WNN
POPAY IR NIDD 2DYNN NTI2Y

The nawnp must be about The nawnn must be
something which is either during annmap which is
DTR DHOR 01 N2TH NHIR. mandatory forn>

Zevachim13 -8
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The Gemara proceeds to discuss the Halachah of
7193 N2OY ATY 57 9R

Only during a mandatory 772y, does > pin nawnn
cause the Korban to become 5»o.

YWY R1M 27T 77792 7N VR

19 MRV NYI0M PIZR NYI0V

If while dipping his finger into the blood to perform nxs;
in the 5>’n the Kohen had a 15 pin mawnmm about naopn
PR, the Korban becomes 0.

The Gemara initially assumes otherwise that

15291 PIZR N0 PR

P10 NRLVNA

A nawnn during paxr n>av does not cause the Korban to
become 9139, because since the Torah teaches the
Halachah of %139 in the Pesukim of on5w, we make the
following 1131 7, comparison from D> to NRVM:

1712 15301 PAZR 120 PR NS

1712 15301 PAZR N30 PR DRV R

DafHachaim.org

1991 N2dYM NTAY 9I IR

£ PIZ DIP DD I

MuYNY

PO NRLN2 NHIADY PIANR PO VY

If while dipping his finger into the blood
to performnnth in the 5>
the Kohen had ayntb yin mawnp about pmoR mvpn,
the Korban becomes 5.

P4

NDIDN VIR NIV PR
D NRLN2

Anwnp during va8N N>
does not cause the Korban to become 59,
because since the Torah teaches the Halachah of 529
in the Pesukim of Dnbv,
we make the following1»en np from pwdw to PRLN:

DNDD YN DPOW ND
DINN DDID PR DINR NDID PN
JN2 NDIOD JN2 NOIDD
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The Gemara however brings proof that regarding 5s;
opbw and nxon have different Halachos, in that

W5 ROV DYV

W0 TR RIIIN PR

If during om>w nv’nw one had nawnmn for both W5 RHW
and m1 yin, the mpw5 X5>w nawnn does not prevent the
Korban from becoming 59, because mmw5 5w onHw
does not Pasel the Korban.

While

WS ROW NRON

D19 7T NI

If during nxvn nYnw one had nawnn for both MwH XHW
and mt yin, the w5 X5w nawnn does prevent the
Korban from becoming 9, because nnwh X>w nxon
does Pasel the Korban.

Therefore, the Gemara concludes that we do say

N9301 YAZR N30

n1>19 DRV

Because we make a different 13» 7 in that just like
regarding D'mow

519 7 ORI 1712 Ho1on 727

5977 IR 1712 29017 117

A nawnn which disqualifies the onbw such as mipnb yin,
prevents the Korban from becoming 9, and an 7712y
which is mandatory to o»5w such as one of the M7y '7
D71 causes the Korban to become 5o,

So too, regarding nxvn

D19 TN REIM 712 Y0197 117

51975 AR 172 2017 737

A mawnn which disqualifies the nxon such as nnwS XSV,
prevents the Korban from becoming 9, and an 772y
which is mandatory to the nxvn such as Ya¥R N2V causes
the Korban to become 5o,

A

The Gemara however brings proof
that regarding h»o;
Dby and nron have different Halachos,

NNDLN
o NHw

DDLW
o NHw

Sy pen o N PR

If during pron nomw
one had mwn» for both
owb Rbw and ntd yin,

the w5 R5w nawny does
prevent the Korban from
becoming ho,
because nowb Rbw nNLN
does Pasel the Korban.

because npwh RHw Db does
not Pasel the Korban.

D i
ﬂwr%m, the Gemara concludes that we do say

NYADN YANK N1V
N1 NRVN2

So tvo, re?a/f/m?u)tﬁ
N2 boion 127
520 mp mwip
N2 20PN N2T
520 b pvan
A nwnp which disqualifies
the nRvN such as npwb NHW,
prevents the Korban from
becoming 5o,
and an nmay which is
mandatory to the nROD
such as g~ nhap
causes the Korban
to become 5o,

DafHachaim.org

Tust M@re?ar/m?/pwﬁ
N2 bpivn 127
529 p DNNID
]N2 20DNN 2T
519 1) Jv2p
A nwnp which disqualifies
the pmbw such as mpnd yin,
prevents the Korban from
becoming by,
and an nmay which is
mandatory to Dpow
such as one of the mmay '7
DTh causes the Korban
to become 51»p.
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